

Office of Purchasing and Supply Services
Facilities Administration Building
13300 Old Marlboro Pike, Room 20
Upper Marlboro, MD 20772
301-952-6560 Fax: 301-952-6605

Rob Thurn, Atthy biretor

NOTICE OF CONTRACT AWARD

October 1, 2016

B & B Concepts, Inc. PO Box 832 Mt. Airy, MD 21771 Telephone: 410.489.6700

Fax: 410.489.9551

Contact: Brenda C. Vickers Email: <u>bbconcepts@comcast.net</u>

Subject: IFB 064-16 Miscellaneous Construction Material

Buyer: Steve Francisco Telephone: 301.952.6560 Fax: 301.952.6605

Email: steve.francisco@pgcps.org

B & B Concepts, Inc. has been selected as the vendor to provide services in accordance with the above-mentioned **IFB**. This contract sets-forth the terms and conditions and is provided for your review and acceptance. Any changes or additions made by your company must first be accepted by the Purchasing Division before the contract is valid.

The intent of this contract is to provide the Board with an expedited means of procuring supplies and/or services at the lowest cost. This contract is for the convenience of the Board and is considered by Purchasing Department to be a "Non-Exclusive" use contract. The Board does not guarantee any usage. The Board will not be held to purchase any particular Brand, in any groups, prices or discount ranges, but reserves the right to purchase any item/items listed in the price schedule submitted.

Please sign below and return all documents to the PURCHASING OFFICE within ten (10) business days. Failure to sign the contract award and return <u>all</u> required documents within the specified time, shall rule your offer null and void and, therefore, award shall be made to the next low responsive bidder.

CONTRACT TERM

The initial term of the contract will be for three (3) years. This contract is effective from October 1, 2016 through September 30, 2019, with an option to renew. The term of renewal shall not exceed two (2) additional one (1) year periods.

CONTRACT AWARD ESTIMATED AMOUNT

The estimated amount of award is

\$112,808.00

INSURANCE

A Certificate of Insurance, made in favor of the Board of Education of Prince George's County, Upper Marlboro, Maryland 20772-9983, must be submitted to the PURCHASING OFFICE with the returned signed NOTICE OF AWARD within ten (10) business days. The certificate should reference the Solicitation Number as shown herein. It will be the responsibility of the contractor to ensure that a current Certificate of Insurance is on file in the Purchasing Office during the entire period of the contract.

LIQUIDATED DAMAGES/FAILURE TO PERFORM WORK

This contract requires the contractor to make good faith efforts to comply with the Minority Business Enterprise ("MBE") Program and contract provisions. The Board and the Contractor acknowledge and agree that the Board will incur damages, including but not limited to loss of goodwill, detrimental impact on economic development, and diversion of internal staff resources, if the Contractor does not make good faith efforts to comply with the requirements of the MBE Program and MBE contract provisions. The parties further acknowledge and agree that the damages the Board might reasonably be anticipated to accrue as a result of such lack of compliance are difficult to ascertain with precision.

Therefore, upon a determination by the Board that the Contractor failed to make good faith efforts to comply with one or more of the specified MBE Program requirements or contract provisions, the Contractor agrees to pay liquidated damages to the Board at the rates set forth below. The Contractor expressly agrees that the Board may withhold payment on any invoices as a set-off against liquidated damages owed. The Contractor further agrees that for each specified violation, the agreed upon liquidated damages are reasonably proximate to the loss the Board is anticipated to incur as a result of such violation.

- a. Failure to submit each monthly payment report in full compliance with COMAR 21.11.03.13B (3): \$____ per day until the monthly report is submitted as required.
- b. Failure to include in its agreements with MBE subcontractors a provision requiring submission of payment reports in full compliance with COMAR 21.11.03.13B (4): \$____ per MBE subcontractor.
- c. Failure to comply with COMAR 21.11.03.12 in terminating, canceling, or changing the scope of work/value of a contract with an MBE subcontractor and/or amendment of the MBE participation schedule: the difference between the dollar value of the MBE participation commitment on the MBE participation schedule for that specific MBE firm and the dollar value of the work performed by that MBE firm for the contract.
- d. Failure to meet the Contractor's total MBE participation goal and subgoal commitments: the difference between the dollar value of the total MBE participation commitment on the MBE participation schedule and the MBE participation actually achieved.
- e. Failure to promptly pay all undisputed amounts to an MBE subcontractor in full compliance with the prompt payment provisions of this contract: \$_____ per day until the undisputed amount due to the MBE subcontractor is paid.

Notwithstanding the use of liquidated damages, the Board reserves the right to terminate the contract and exercise all other rights and remedies provided in the contract or by law. The successful respondents accepts this contract with the understanding that should they fail to complete the work in an acceptable manner and in the time stated, shall be subject to the payment of liquidated damages as stated in the proposal document.

AVAILABILITY OF FUNDS

This contract shall be deemed executory only to the extent of appropriations available to the BOARD for the purchase of such articles. The obligation of the BOARD on all contracts, including those which envision funding through current and successive fiscal years, shall be contingent upon actual BOARD appropriations, including approval of this contract award for funding by the Interagency Committee on Maryland Public School Construction, for the fiscal year(s) involved.

This notice of award, plus the solicitation, your offer and any pertinent documents will constitute the entire contract after acceptance by your firm and the BOARD. Please refer to the **IFB** for all applicable terms and conditions.

CRIMINAL BACKGROUND CHECK/PHOTO IDENTIFICATION BADGE

It is the responsibility of the Consultant to make certain that its employees, agents, volunteers, and contractors who have contact with students be fingerprinted and have a background check in compliance with Title 5, Subtitle 5, Part VI, of the Family Law Article of the Maryland Code.

A. Employees Having Direct Contact with Students:

Any and all current and future employees of Consultant/Contractors who may have direct contact with students must have a criminal background check and fingerprinting conducted by the Finger Printing Office of the Board before 14 days before beginning work. Previous background checks will not be accepted. The

fee for the background check shall be paid by the Consultant/Contractors by check or money order at the time the fingerprinting is performed. No employee can begin work in a PGCPS Schools until results have been received. Violation of this provision may result in Termination for Cause.

B. Employees Do Not Have Direct Contact With Students:

Employees of Consultant/Contractor who will be placed in a PGCPS Schools but will not have direct contact with students must have on record a Criminal Justice Information Service (CJIS) and NCIC background checks. Copies of the background checks must be forwarded to the Contract Officer before services can commence. Every two years the Consultant shall submit copies of background checks to the Contract Officer. Should any employee be flagged during the term of this agreement, the Consultant shall contact the Contract Officer within 24 hours of notification. Violation of this provision may result in Termination for Cause.

C. Employment of Child Sex Offenders:

The Consultant/Contractor shall at all times be compliant with the Criminal Procedure Article of Annotated Code of Maryland Section 11-722 that states that a person who enters a contract with a County Board of Education or a nonpublic school may not knowingly employ an individual to work at a school if the individual is a registered child sex offender. If a registered child sex offender is employed by the Consultant/Contractor, the Consultant/Contractor is prohibited from assigning that employee to perform management, delivery, installation, repair, construction or any other type of services on any The Board property. Violation of this provision may result in Termination for Cause.

This notice of award, plus the solicitation and any pertinent documents will constitute the entire contract after acceptance by your firm and the BOARD. Please refer to the **IFB** for all applicable terms and conditions.

ACCEPTED BY:				
FOR THE FIRM:		FOR THE BOARD OF EDUCATION:		
Brende C. Tickers	10/07/2016	PACE	10/24/12	
SIGNATURE	DATE	SIGNATURE	DATE	
BRENDA C. VICKELS		Robert Johnson		
NAME		NAME:		
President		Acting Director, Purchasin	g & Supply Services	
TITLE		TITLE		
b+6 Concepts, INC.		FOR THE BOARD OF ED OF PRINCE GEORGE'S		
FIRM	·	UPPER MARLBORO, MA	ARYLAND 20772	

CONTRACT PRICING

GROUP 3 – MISCELLANEOUS CONSTRUCTION MATERIALS

ITEM	DESCRIPTION	QTY	UNIT	EXT. COST
37	Formica, 4'x10' sheet, #726 Almond Papyrus color	3,000	\$1.96	\$5,880.00
GROUP 3 TOTAL		\$5,880.00		

GROUP 8 - CEILING PRODUCTS

ITEM	DESCRIPTION	QTY	UNIT COST	EXT. COST
62	Cross Tee, 4 lin. ft. lgth., white steel; Fire-rated, Donn #DXL-424 ONLY NO SUBSTITUTES (* 5670-0004)	3,000	\$1.82	\$5,460.00
63	Main Channel, 12 lin. Ft. lgth, white steel, Fire-rated, Donn #DXL-424 ONLY NO SUBSTITUTES (* 5670-0003)	500	\$5.63	\$2,815.00
64	Wall Angle Molding, 12 lin ft. lgth, white steel; Fire-rated, Donn #DXL-424 ONLY NO SUBSTITUTES (* 5670-0005)	200	\$4.16	\$832.00
65	Hanger Wire, #12, 100 lb. hank, 244 strands per hank, 12 ft length	2	\$58.00	
66	Tile, ceiling, Armstrong Fissured, square lay-in #1830-ONLY, Medium Texture, Size: 24"x48"x5/8"; UL Label. (*5640-1001)	≥ 6.' £ 550	3ubmis. \$40.52	\$22,286.00
67	Tile, ceiling, Armstrong Fissured Design, #895 or USG #586, ONLY, Size: 24"x48"x5/8" lay-in; UL Label. (*5640-1002)	600	\$47.41	\$28,446.00
68	Tile, ceiling, Tectum brand ONLY, as specified below. (*5640-1005)	60	\$116.40	\$6,984.00
		GROUP	8 TOTAL	\$66,939.00

GROUP 9 - CHALKBOARD MATERIAL

ITEM	DESCRIPTION	QTY	UNIT COST	EXT. COST
69	Contact Adhesive, Hybond 80 ONLY, Multi-purpose, Flammable Liquid, DOT Class UN133. (*8030-4223)	15	\$174.00	\$2,610.00
70	Hahomasote Board (4' X 8')	20	\$22.56	\$451.20
		GROUP	9 TOTAL	\$3,061.20

GROUP 10 - FLOOR RELATED PRODUCTS

ITEM	DESCRIPTION	QTY	UNIT COST	EXT. COST
71	Adhesive, Floor Tile, Envirotec Health Guard #2033, Clear Thin Spread Adhesive	130	\$36.76	\$4,778.80
72	Paste, Floor, Armstrong #S-235 ONLY, (Gallon Containers) (*8030-4229)	50	\$15.95	\$797.50
73	Floor Patch, Feather Finish, Self Drying, Ardex, SDF (*8030-4222)	100	\$21.19	\$2,119.00
74	Congoleum - Alternative, Choices, All Colors	250	\$31.01	\$7,752.50
75	Azrock - V Series, All Colors	250	\$27.46	\$6,865.00
76	Tarkett - Basics, Classics, Keystone, All Colors	250	\$29.99	\$7,497.50
77	Armstrong - Standard Excelon, All Colors	250	\$28.47	\$7,117.50
GROUP 10 TOTAL			\$36,927.80	

	PERCENTAGE OFFERS:	
6	Formica brand lamination material	25%
7	Armstrong ceiling tile	15%
8	CONGOLEUM Floor Tile	15%
9	AZROCK Floor tile	10%
10	TARKETT Floor Tile	25%
11	ARMSTRONG Floor Tile	25%